







MARSHALL POLICE DEPT

Marshall PD ELC (8) M500 (22) V300 02/22/2023

02/22/2023

MARSHALL POLICE DEPT 611 W MAIN ST MARSHALL, MN 56258

RE: Motorola Quote for Marshall PD ELC (8) M500 (22) V300 Dear Ryan Hoffmann,

Motorola Solutions is pleased to present MARSHALL POLICE DEPT with this quote for quality communications equipment and services. The development of this quote provided us the opportunity to evaluate your requirements and propose a solution to best fulfill your communications needs.

This information is provided to assist you in your evaluation process. Our goal is to provide MARSHALL POLICE DEPT with the best products and services available in the communications industry. Please direct any questions to Nathan Kinsey at Nate.Kinsey@motorolasolutions.com.

We thank you for the opportunity to provide you with premier communications and look forward to your review and feedback regarding this quote.

Sincerely,

Nathan Kinsey



Budgetary

QUOTE-2060517 Marshall PD ELC (8) M500 (22) V300

Billing Address: MARSHALL POLICE DEPT 611 W MAIN ST MARSHALL, MN 56258 US Quote Date:02/22/2023 Expiration Date:05/23/2023 Quote Created By: Nathan Kinsey Nate.Kinsey@ motorolasolutions.com

End Customer: MARSHALL POLICE DEPT Ryan Hoffmann ryan.hoffmann@ci.marshall.mn.us 507-537-7000

Summary:

Any sales transaction resulting from Motorola's quote is based on and subject to the applicable Motorola Standard Terms and Conditions, notwithstanding terms and conditions on purchase orders or other Customer ordering documents. Motorola Standard Terms and Conditions are found at www.motorolasolutions.com/product-terms.

Line #	Item Number	Description	Qty	Term	Sale Price	Ext. Sale Price
	M500					
1	WGB-0703A	M500 ICV SYSTEM, V300 WIFI DOCK, SPS*	8		\$6,015.00	\$48,120.00
2	WGA00428-103	CONFIGWIRLESKIT MTIK802.11AC,POE,5GHZANT	8		\$250.00	\$2,000.00
3	WGP01394-001	CBL, WIFI VHCL ANT MNT, NMO, 17'L	8		\$60.00	\$480.00
	V300					
4	WGB-0101A	V300 BODY WORN CAMERA, MAG CHEST MOUNT	22		\$995.00	\$21,890.00
5	WGB-0138A	V300 TRANSFER STATION II	3		\$1,495.00	\$4,485.00
	VideoManager EL: Video Evidence Management					
6	WGC01001	VIDEOMANAGER EL CLOUD, SOFTWARE AND HOSTING, UNLIMITED ASSIGNED, ANNUALLY PER DEVICE*	22	1 YEAR	\$495.00	\$10,890.00





Budgetary

QUOTE-2060517 Marshall PD ELC (8) M500 (22) V300

Line #	Item Number	Description	Qty	Term	Sale Price	Ext. Sale Price
7	WGC01002	VIDEOMANAGER EL CLOUD, SOFTWARE AND HOSTING, UNLIMITED SHARED, ANNUALLY PER DEVICE*	8	1 YEAR	\$695.00	\$5,560.00
8	WGW00122-410	REMOTE DEPLOYMENT, TRAINING, CONFIGURATION AND PROJECT MANAGEMENT	1		\$1,500.00	\$1,500.00
Grand Total					\$94,925.0	00(USD)

Pricing Summary

	Sale Price	
Upfront Costs for Hardware, Accessories and Implementation (if applicable), plus Subscription Fee	\$95,125.00	\$0.00
Grand Total System Price	\$95,125.00	\$0.00

Optional Items:

Line #	Item Number	Description	Qty	Term	Sale Price	Ext. Sale Price
9	WGP01566-350	ACCESS POINT, MIKROTIK, 802.11AC, 5GHZ	1		\$200.00	\$200.00
Optio	onal Items Total					\$200.00





February 22nd, 2023

The up-front ELC price for year 1 comes to \$94,925. Adding the cloud storage for the M500s and V300s for the next 4 years brings your 5-year total to \$160,725 as reflected in the chart below.

Marshall PD 5-Year Pricing Summary		
	V300 Cloud Storage	M500 Cloud Storage
Year 1	\$10,890	\$5,560
Year 2	\$10,890	\$5,560
Year 3	\$10,890	\$5,560
Year 4	\$10,890	· \$5,560
Year 5	\$10,890	\$5,560
Total	\$54,450	\$27,800
	5-Year Total Cloud Storage	\$82,250
	5-Year Total Cost	\$160,725

This total does not include any warranties beyond the free 1-year warranty.